Installation Notes:

1. Mounting frame: the
column is connected with
the beam, pay attention to
the direction of the column,
and fix it with M8*12 screw
and M8 flange nut, a total of
16;

2. Mounting base: The base
is installed in the lower part
of the frame. The base is
slotted. The side of the
column is embedded in the
slot. It is fixed with M8*12
screw and M8 flange nut.
Be careful not to tighten.
After fixing the left and right
bases, fix the beam to the
base with M5*10 screws,
and finally tighten the M8
SCrews;

3. Mounting casters: Each
caster is secured with 4 M5*
10 screws.

\/Jpper beam
\\/f
et

U,

u, *” Vertical

mounting rails

g

Lower
beam

Casters



